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1. A purchased patent has a legal life of 15 years. It should be
a. expensed in the year of acquisition.
b. amortized over 15 years regardless of its useful life.
c. amortized over its useful life if less than 15 years.
d. amortized over 20 years.

2. Creditors use financial accounting information to

¢. evaluate the risks of lending money

company’s stockholders’ equity is

a. $40,000.
b. $60,000.
c. $100,000.
d. $160,000.

4. Firms’ revenuves would nof result from
a. sale of merchandise.
b. initial investment of cash by owner,
¢. performance of services.
d. rental of property.

a. December.
b. July.

¢. August.
d. September.

a. Safeguard company assets

b. Overstate liabilities in order to be conservative

d. Reduce the risks of errors

b. determine whether the company is complying with tax laws

d. make decisions to about buying, holding, or selling stock.
3. Ample Company has total assets of $100,000 and total liabilities of $60,000. The

¢. Enhance the accuracy and reliability of accounting records

2. determine whether the company is following regulatory guidelines.

5. Horton Enterprises performed services on July 30, billed the customer on August 3,

and received payment on September 7. The revenue should be recognized in

6. Which one of the following is not an objective of a system of internal controls?
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7. Which one of the following items is not a consideration when recording periodic
depreciation expenses on plant assets?
a. Salvage value
b. Estimated useful life
Cash needed to replace the plant asset
d. Cost

8. From the standpoint of the issuing company, a disadvantage of using bonds as a

o

means of long-term financing is that
a. bond interest is deductible for tax purposes.
b. interest must be paid on a periodic basis regardless of earnings.
¢. income to stockholders may increase as a result of trading on the equity.
d. the bondholders do not have voting rights.
9. If a corporation issued $2,000,000 in bonds which pay 10% annual interest, what is
the annual net cash cost of this borrowing if the income tax rate is 30%?
a. $2,000,000.
b. $60,000.
c.- $200,000.
d. $140,000.
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a. $25,000; b$27,500; c.$37,000; d.$28,000.
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